A. the dailwtg'
B. the frequency of light emitte
’ ¢ earth about the sun

C. the yearly reve
D. a precision pendulum clock
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D. thereare more wavelengths ina

In 1860, the U. S. Congress defined the U. S- Jﬂd as

athis definition relates the COMW to a more
_— —

A. the distance from the orth pole 1o the
equator along a meridian passing through
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This was done primﬂy because:

A length can be measured more accurately in meters than in yards

B. the meter is more stable than the yard
—

yard

qgh is based on:
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1.The .SI/Standard of le

E. the members of this Congress were exceptionally intelligent

B. wavelength of light emiiied by Hgl 98
C. wavelength of light emitied by Kr86

D. a precision meter stick in Paris

E. the speed of light
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Which of the following is closest to @
yard in length?
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A. 0.0 m

B. O.Iﬁ

D. 100m

E. 1000 m EW% 3 @

There is no ST base unit for area because:

A. anared has no thickness: hence ho physical standard

can be built

B. weliveind three (not @ two) dimensional world

C. itis impossible t0 express Square feet in terms of meters

D. area can be expressed in terms of square meters

E. areaisnotan important physical quantity

Y ADdd !IHI/IU'I










(7.0 * 10%)/(2.0 * 1025
\o

A 35X 10712

B. 35 210-°
2 3.5
6

\E. 35 x1olzd/

@ Rl ~ S
. f#-'&%. s e
Wh&a‘%ﬁ%

e




ificant f' igures in

The number of signyficd

The number of significant figures in

Abgalldl l/ltln’l

3?;2'%;%}4.“







m*’“
ent to 1609 m SO L

?%%ﬁﬂ




adius of 2.3

Aright circular € Jinder with a 't
ioht of 1.4 M has a volume of:
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A right curcutar cyunaer with a raaws 0J
2.3 nd a height 0 1.4 cm has @ total
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A cubic bOX with an edge of
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uivalent 10 3.281 ft. A cube with an
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a volume of:
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